
Urban tree quiz answers 

Round 1: 

a) Horse chestnut 

b) Silver birch 

c) English oak 

d) Holly 

e) Sycamore 

f) Beech 

g) Lime 

h) London plane 

Round 2: 

1) B – Many urban trees are resistant to pollution to grow successfully in urban areas. 

2) B – The Golden Queen Holly bush is male! 

3) B – Urban trees don’t destroy habitats, they create them! 

4) D – The first recorded conker match was in the Isle of Wight. 

5) C – Sycamores can produce 10,000 seeds per season! 

6) C – Trees can reduce pollution by a huge 50%! 

7) A – English oak trees can live up to 800 years old, so one today could have been around in 

the 13th century! 

8) B – Urban trees don’t increase temperature; they provide shade and reduce temperatures in 

towns and cities. 

 


